-2 RAEK 06-1 -
2 R7A%EX 06-1 (  /12) ( ) )

WD 2 WG EMHE RSV,

2 1_ Loz 5., 1
(1) 22° + 2z + 1= 0 (2) 5T 5 5 =0
4 207 1,,5 11 _
(3) 3 3 —1—3 =0 (4) 18T 9T =0
(5) Sa*=-Sa+3 (6) —a? = -2z -6
U)—x+5:lw2 @)lgx:——w2—4
3 3
9) %x2+6:1::—10 (10) —4a® = —20z + 5
L2, 8, .16 _29 1o
(11) i + 3x+ 3 0 (12) 5 5Lt

— 13th-note —



2 R7A%EX 06-1

WD 2 WG EMHE RSV,

(1) 2x2+2x—|—%:0

_ —2442
4

(9) =%+ 6x=-10

r=—2, —10

-2 RAEK 06-1 -

(  /12) ( 53
L2 5., 1_
_ 5+ v21
2
1,2, 56, 11
(4) 4x+2 1 0
r=—11, 1

(10) —42? = —20z +5

_5+2V5
2

_29 1 o
5 = 23: +x

r=1++30

— 13th-note —

)



~ 2 AER 06-2 -
2 RATEXK 06-2 ( /12) (

WD 2 WG EMHE RSV,

lg_lO 16_ 22_14 —
(1) 52 —3:13+—3 =0 (2) i 337—1—4—
3) Loz a1l =g (4) —222 + 10z + 13 —¢

2 2 2
5) 222 —sx+ 4 — 6) Sa2— 2L =7

3 3 2 2

4 o 40 44 _ 11 2,3
(7) Tt 3T =0 (8) g = g t 5T

9 _-_1 0 8 14 _ 1 o
(9) 5 ¥ 7= 5 & (10) —x + 5 =57

) _ L2 3.2 27 _
(11) 3:1:+2— 5% (12) 5T T 5 x+27=0

— 13th-note —

)



2 R7ATEX 06-2

WD 2 WG EMHE RSV,

1. 10, 16 _
(1) 333 3334-3 0
r =38, 2
1 2 Al _
(3) 5 d 6a+2 0
a=11, 1
2 2 40 _
(5) Ga? —8a+ =0
x =10, 2
4,240 44 _
(7) 3:U+3x 3 =0
r=—11, 1
9 _-_12
(9) 23: 7—2x
r="17, 2

-2 RAEKX 06-2 -

(  /12) ( 53

(2) z31:2—1—4:6—|—4:0

3 3
r =26, 1
(4) —2% + 100+ 2 =0
_ 5+ /38
2
(6) Sa— 2ha =27
a=9, —2
1_ 1..3
(8)—2— 5 & —1—2:1:
_ 3+ 413
2
8,414 1.
(10) 3:1:+ 5 =57
xr =41 +/30
(12) S22+ 2ot 27=0
r=—6, —3

— 13th-note —

)



2 X712 06-3
RO 2 WHERERE RS0,

1o 7T 0_
(]‘) 2a 2a 9 0

1 7

77 1=

an L 2y,

- 2 RAER 06-3 -

4 8,04

© ~2z-L=-1p
(8) bx = _%:EQ _3

(10) %a:2+ ; :_%
(12) _% = —22% — 4z

— 13th-note —

)



2 X712 06-3
RO 2 WHERERE RS0,

7

12 7. _o9_
(1) 2a 2a 9=0

a=9, —2

2 2
r=—8, 1
(5) %a:—%cﬂ—i’)
a=—6, —1
(7) 2x2—2x:—%
_2+43
4

(9) 52*+3z=38

-2 RAEK 06-3 -

(  /12) ( 53

4 2,8 4 _
(2) 3:c+3:1:—|—3—0
r = —1
1 2 3 4 _
(4) 23: 2x 1=0
_ 3+ V17
2
2, 1 _ 45
6) =37 35 37
1+ 2
4
(8) bx = %:1:2 8
r=—8, —2
L2 7,__10
(10) 3:1:+3 =73
r=—5, —2
(12) —% = 212 4z
_ —24++/39
2

— 13th-note —

)



-2 RAEKX 06-4 -
2 R7F7EX 06-4 (  /12) ( ) )

WD 2 WG EMHE RSV,

(1) S+ Za+27=0 (2 22— Zato=
(3) Sa?— 2o —6=0 (4) 20° —dz — 1 =0
(5) %:194—4?0:64—%:0 (6) %xQ:%x—él
(7) —277&%— % = %aQ (8) 2T7x = —%xQ —15
(9) %GQ _ —%a—{—% (10) —12% = 62 + 3
(11) —6x = —%xz — % (12) %aﬂ— % = %xQ

— 13th-note —



2 R7F7EX 06-4

WD 2 WG EMHE RSV,

80, 2 g
(1) 302+ Zlat27=0

(3) %xQ—ﬁx—Gzo

4
4.5, 40 64 _
(5) 3:1:'+ 3:c+ 5 =0

-2 RAEKX 06-4 -

(  /12) ( 53
2) %x2—22—133—|—9:0
r=1, 6
(4) 20% —dz— & =0
_ 245
2

(10) —12?% = 6z + 3

r=—3++6
(12) %:H%: 5
r =10, —1

— 13th-note —

)



2 X7A1EK 06-5
RO 2 WHERERE RS0,

(1) —%x2—5:1:—10:()

3.2 20 _ _
(5) 5T 5 = 30

9.4 2 23
(7) —2z = 5:L’ 50

— 2 XA 06-5 -

(  /12) ( )

(4) =122 — 10z —12=0

(6) 222 +2x = =

(NCEN|

577 95

— 13th-note —

)



-2 RAEX 06-5 -
2 R7ATEX 06-5 (  /12) ( )

WD 2 WG EMHE RSV,

1) —%x2—5x—1020 2) —%:cz—i—llx—?:()
xr=—-54++5 x =442
(3) %x2_$_4_23:0 (4) 122 - 10x - 12=0
x=1+2v11 r=—51+13
32 20 _ _ 2 _ T

(5) 5 5 = 30 (6) 22° + 2z 5
w:5, 4 xr = _1:|:2\/§
2
(7)4—2x::-—€%x2——%§% (8) ;:tQ Ay = —2
—Lﬁ r=4+2/3
10, _1.2_ 22,2
(9) 3 4= 730 3 (10) —=x 3 oF
5%
(1) fo? =204 1L (12) 2> - Ja=15
r=—11, 1 a=>5, —2

— 13th-note —

)



— 2 R 06-6 -
2 R77EX 06-6 (  /12) ( ) )

WD 2 WG EMHE RSV,

(1) %;a@ —3z4+6=0 (2) —a? ——51:—-%% =0
(3) Sa?— 20+ 2 =0 (4) —5a+2+13=0
(5)%2—14—5 _% (6) %x2+%x:—2
(7) %azgzi’)x—% (8) —12x:—%:€2—|—277
(9) 2a?=32a+9 (10) 222 432 = -1

(11) %x2+3x+6:0 (12) —%x—l—%z%ﬁ

— 13th-note —



2 X712 06-6
RO 2 WHERERE RS0,

(1) 22 —32+6=0

3
r =06, 3
(3) Sa?— 20+ 2 =0
_4++5
3
3 0 15 _ 9
®) gty
r=6, —1
(7) %1'2:31’—%
r=2_8, 1
9) %azz%a+9
a=12, —1

(11) %x2+3x+6:0

r=—-3, —6

— 2 R 06-6 -

(  /12) ( 53
(2) —x2—5x—%:0
_ =5+ VT
2

(4) —%x2+x+13:0

x=1%+3V3

19— 3 2 27
(8) —120 = —Ta® + 5

xr=—1, 9

— 13th-note —

)



— 2 RAEK 06-7 -
2 R7ATERX 06-7 (  /12) ( ) )

WD 2 WG EMHE RSV,

(1) —%x2+%aj+%:0 (2) 2:(:2—1—33—%:0
(3) 3o +22+5 =0 (4) ga%— go— 5 =0
(5) %ag —%a+16 (6) —%z—%ﬁ—x
(7) %a2+a:0 (8) %x—%:—%:ﬁ
(9) %ag :—%G—Q (10) x:_%x2+%
(11) —12% =8z + 13 (12) é%x2 __j§£x<+_j§i

— 13th-note —



2 R7ATERX 06-7
WD 2 WG EMHE RSV,

1o 1 T
(1) 2:c+2a:+2 0

_ 14+/29

2 2
r=—3, —1
4.2 _4

(5) 3 a® = 3 a+ 16

a=0, —2
(9) %azz—%a—9
a=—6, —3

(11) —12? =8z + 13

r=—44++3

— 2 RAEK 06-7 -

(  /12) ( 53
(2) 20% + 2~ 2 =0
_—1i\/6
4
4 0 4 1
(4) 33: 3x 3 0
1442
2
17 1 o
(6)—2— 23: x
xr=—14+3V2
2 1 12
®) ge-g=-3°
—2 422
B 2

(10) 2= —+a?+ 3
_ —343v3

2
2,0 14 16
(12) 3T 3 Tt 3

r=—8, 1

— 13th-note —

)



2 X712 06-8
RO 2 WHERERE RS0,

L2y 5, 12
(1)633—1—6:1: 1=0

(11) sz = L2

2 mAEER 06-8
(12 (

32, 20 o
(2) 2x—|—2:c 15=0

3. 2,33 o_
(4)4x+4x 9=0

_2__8 14
(8) —x 5x—l—25

1 o 13 _
(10) 3:1: + 3x+4—0
(12) -1 =—+a%+a

— 13th-note —

)



— 2 R7AREK 06-8 -
2 R7A7EX 06-8 (  /12) ( 53 )

WD 2 WG EMHE RSV,

(1) %xQ—f—%x—l:O 2) %:c%%x—w:o
r=—6, 1 r=—10, 1
(3) —%xQ—x—%: (4)%%% —9=0
- —4t2v2 r=—12, 1
__ 3,2 21 16 _ 2,2
(5) 12z = x 5 (6) 3 r+6= 5%
rx=-7 —1 =9, —1
_ 40 _ 2 o 28,14
(7) 6z 3 = 37 (8) —a* = 5 T+ 25
r=2>5, 4 oo AEV2
5
(9) %:—23:24—5:1: (10) %3324—%1'—{—4:0
v — 5i4\/5 r=—12, —1
5,1 1=_Llg2
(11) 3T =¥ (12) -1 = 5Tt
x =0, 10 w:%m

— 13th-note —



2 XR7ER 06-9

WD 2 WG EMHE RSV,

1) 322 460 2T =0
(3) %x2+5x—1—21:0
(5) 12 —22—1:%:(;2
(7) %$2=%x

(9) —9;5:_%332

(11) —2;5:_%332_‘_6

-2 RAEX 06-9 -

(  /12) ( 4y

1.2 38 _
(4) go*—go+5=0

(6) ~6a = 2o

(8) —§9U + % = %xQ
(10) %xQ = 21— %
(12) —%x = —%aﬂ +4

— 13th-note —

)



2 R7ATEX 06-9

WD 2 WG EMHE RSV,

3 2 27T
(1) TR + 6z 1 =0

3) La?+50— L =0

2 2
r=—11, 1
(5) 12 —22—1:%#
=1, 7
(7) %azg:%x
x =0, 5
(9) —9.%‘:—%.%‘2
x =0, 12
(11) 20 = 222 +6
r=6, — 2

— 2 R7AEKX 06-9 -

(  /12) ( 53
1o 3,,4_
(2) 54 2a—i—3 0
a=1, 8
1l 2 8 _
(4) 5 3x+5—0
r =25, 3
(6) —6a:%a2
_2. 7 _ 1.0
(8) 3x+3 7@
x=—1+2v2

(10) Zp? = —2r — 11

r=—-1, —11

11_133
3 3

r=12, —1

— 13th-note —

)



2 X712 06-10
RO 2 WHERERE RS0,

3.2 5. 23 _
(1) 2:0 %% 5 0

(3) %xQ—E:c+8:O

(5) ——a—3=+a

(11) — x2 = %x

o=

—- 2 XA7EHX 06-10 -
(  /12) ( )

Loy 5
(2)637 +x 5 0

(6) 4z = =22 +3

(10) —12% = —2x — 21

(12) a = —=a* +4

— 13th-note —

)



2 X712 06-10
RO 2 WHERERE RS0,

3.2 5. 23 _
(1) 2:(: %% 5 0

5142
3

3
r =12, 1
(5) %a—3—%a2
a=29, 1
1) -Ze=-3p24 2
r=9, —2
(9) gaz—%azi’)
a=—2, 5

— 2 RAEA 06-10 -

(10) —12% = —2x — 21

x =11 +v22
(12) o = —La? +4
a= —4, 2

— 13th-note —

)



